w0

i |

BUILDING SYSTEMS |}

PARTITION & DRAFT CURTAIN TABLE OF CONTENTS

Draft Curtain Information And Specifications .............ccoooiiiiiiiiiii i, 2
Partition Information And Specifications ............ccoooviiiiiiii e 2
Partition Wall DetailS ..........oooeieiiii e 3
IHO010 — 8” System Transverse Partition Wall ..............cccccooiiiiiiiiii e 3
IHO020 — Transverse Partition Wall Section Cuts — Purlins............cccoooovviiieen. 4
IHO030 — Transverse Partition Wall Section Cuts — Joists.........cccccceeeeieriiiinnenn. 5
IHO040 — Longitudinal Partition Wall.............coooiii e 6
IHOO050 — Longitudinal Partition Wall Section Cuts ............ccoovvviiiiiiiiiiicicieeeee e 7
IHOO070 — Longitudinal Partition Wall Section Cuts — Joists To Strut Conn............ 8
Draft Curtain DetailS.........oooeiieii e 9
IJO010 — Transverse Draft Curtain W/ Purlins — Horizontal Bottom Support......... 9
[J0020 — Transverse Draft Curtain W/ Purlins — Parallel Supports...................... 10
IJ0040 — Transverse Draft Curtain W/ Joists — Horizontal Bottom Support......... 11
IJO060 — Transverse Draft Curtain W/ Joists — Away From Main Frame Rafter..12
JO070 — Longitudinal Draft Curtain W/ JOIStS........ccoooiiiiiiiiiiii e 13
Recessed Endwall DetailS............iiiiiio e 14
GA0002 — Recessed Endwall Detail ...........coooveeiiiiiiiieee e 14

7.41



;Hl_n:nn

‘ BUILDING SYSTEMS

DRAFT CURTAIN INFORMATION AND SPECIFICATIONS

Additional information Nucor standard draft curtains is available at the Nucor Building
Systems website at the below link.

Nucor Standard Draft Curtain

PARTITION INFORMATION AND SPECIFICATIONS

Additional information Nucor standard partition walls is available at the Nucor Building
Systems website at the below link.

Nucor Standard Partition Wall

The following pages provide standard Draft Curtain and Partition Wall details.

LAST REVISION
DATE: 03/11/15
BY: _AAJ CHK:_MDK 7.4.2



http://www.nucorbuildingsystems.com/products/architecturalproducts/draftcurtains/draftcurtains.html
http://www.nucorbuildingsystems.com/products/architecturalproducts/standardpartitions/standardpartitions.html

[y

| |
‘ 'riLJE:E:FE|

BUILDING SYSTEMS |}

PARTITION WALL DETAILS

IH0010 — 8” SYSTEM TRANSVERSE PARTITION WALL

SEE SECTION "C”
FOR CLIP INFO

SIDEWALL GIRT
\ N

L

VERTICAL CEE SUPPORT

D

ROOF MEMBER

CONTINUOUS SHEETING CHANNEL
MK. B8CO1

PARTITION WALL GIRT—\

—

8” SINGLE OR DOUBLE
CEE PARTITION COLUMN

GIRT CLIP MK. GFIO1

PARTITION WALL GIRT—\

FRICTION CLIP MK. JCA02
FRICTION CLIP MK. JCP0O2

FRICTION CLIP MK. JCA02
(ATTACHMENT TO

BASE ANGLE

1o

SLAB BY OTHERS)
FINISH FLOOR N

MK. MARO2 *“—\
L ]

N %
3

LAST REVISION
DATE: 02/16/15
BY: _AK CHK:

EGB

L»
D

TRANSVERSE PARTITION WALL

8" SYSTEM — SINGLE SHEETED NOTE: USE 1/2" X 1-1/4" A307
BOLTS HO500/NUTS H0400.

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.
SEE STRUCTURAL ELEVATIONS FOR GIRT/COLUMN MARK NUMBERS.

** — FASTEN AT 3'-0" 0.C. MAX (FASTENERS NOT BY NUCOR)

4
|
4a -
. a4
P

DETAIL NAME IF APPLICABLE
IH0010.DWG

y

(2) BASE CLIPS
MK. JCAQ2

(ATTACHMENT TO
SLAB BY OTHERS)

|[HO010

743


dtls/ih0010.dwg

R ¥ =

==l PRODUCT & ENGINEERING

BUILDING SYSTEMS |} —

IH0020 — TRANSVERSE PARTITION WALL SECTION CUTS - PURLINS

GIRT—\ cup GFI01-\ ¢ COLUMN CLUP GFIO1 /rGIRT
|
) /
Q o]

|
= lJr
g e ¢ 3§ o PURLIN CAP TRM MK. PF__
(@] Smf ! 0
&
©-0 NG -9 =
!—!—1[ lr—m— 4" MAX.
N \ " K
= GIRT ANGLE MK. MAGO1
~ W/(2) H1020 L . .
(PLACE ANGLE FROM GIRT f * *
To FLANGE OF COLUMN) L ]
& H1060 FASTENERS
3w 61/ |, 61/ 34 & (35 ON CENTER)
L)
3 DO NOT ATTACH WALL PANEL
- o TO CONTINUOUS SHEETING
SECTION "A" TRANSVERSE PARTITION WALL GIRT TO COLUMN o CHANNEL
NOTE: USE (6) 1/2° X 1 _1/4° A307 BOLTS HOS00/NUTS HO400. z
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. & \
CONTINUOUS SHEETING
A CHANNEL MK. B8CO1.
C PURLINS ON EITUER. SIDE.
SIDEWALL GIRT PARTITION WALL GIRT OF PARTITION COLUMN WITH
(2) H1020 FASTENERS.
FRICTION CLIP MK. JCAO2
O / PARTITION WALL GIRT
i [—— WALL PANEL
t <
H - o
NN FRICTION CLIP MK. JCPO2
VERTICAL CEE SUPPORT
ATTACH WITH (3) H1020 PARTITION WALL GIRT
FASTENERS AT EACH GIRT/SUPPORT
»
SECTION "B” GIRT CONNECTION TO VERTICAL CEE SUPPORT
NOTE: USE (#) 1/2° X 1_1/4" A307 BOLTS HO500/NUTS HO400 UN.O.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. BASE ANGLE MK. MARD2
/ FASTEN TO FLOOR AT
30" 0.C. MAX
FINISHED FLOOR (FASTENERS NOT BY NUCOR)
CONTINUOUS SHEETING CHANNEL ”;
MK. BSCO1

L 17 5 1/2°

CUP MK. JCS__.
ATTACH TO CHANNEL WITH (6) H1020
FASTENERS. ATTACH TO COLUMN
WITH (2) 1/2° x 1 1/4" A307 BOLTS
(HO500) & NUTS (HO400).

8" SINGLE OR DOUBLE
CEE PARTITION COLUMN

SECTION "C" TRANSVERSE PARTITION COLUMN TO CHANNEL SECTION "D-D° FULL HEIGHT SECTION AT PARTITION WALL
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. SEE WALL SHEETING ERECTION NOTES FOR WALL PANEL FASTENER LOCATIONS

IHO020

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15 7.4.4
BY: _AK CHK: _EGB IH0020.DWG -



dtls/ih0020.dwg

R ¥ =

Bl PRODUCT & ENGINEERING

BUILDING SYSTEMS |} —

‘ IH0030 — TRANSVERSE PARTITION WALL SECTION CUTS - JOISTS

GIRT- CUP GFIO1 QCOLUMN CLIP GFI01 GIRT
_\ _\ | / [ | CAP TRIM MK. PF___
, 1 !
g
g a
oo
© .

———H—

4" MAX.

2 1/4"
31/2°, |7

b g
\-—H1060 FASTENERS

(36" ON CENTER)

GIRT ANGLE MK. MAGO1
W/(2) H1020

(PLACE ANGLE FROM GIRT = =
TO FLANGE OF COLUMN) JOIST / L _l

3/4" 61/2"°  , 61/2" 3/4°
N

2 1/4"

DO NOT ATTACH WALL PANEL
TO CONTINUOUS SHEETING
CHANNEL

\—OON'HNUOUS SHEETING

CHANNEL MK, B8CO1.
J01STS. ON ETHER SIDE OF
PARTITION WALL GIRT PARTITION COLUMN WITH
(2) H1070 FASTENERS.

SECTION "A” TRANSVERSE PARTITION WALL GIRT TO COLUMN

NOTE: USE (8) 1/2" X 1 1/4" A307 BOLTS HO500/NUTS H0400.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.

SIDEWALL GIRT
FRICTION CLIP MK. JCAO2
\I\ / PARTITION WALL GIRT

5'—0" MAX.
PANEL CANTILEVER

4

| [—— WALL PANEL
i <
& il B o1kd
NN FRICTION CLIP MK. JCP02
VERTICAL CEE SUPPORT PARTITION WALL GIRT

ATTACH WITH (3) H1020
FASTENERS AT EACH GIRT/SUPPORT

SECTION "B” GIRT CONNECTION TO VERTICAL CEE SUPPORT

NOTE: USE (4) 1/2° X 1 1/4" A307 BOLTS HO500/NUTS HO400 U.N.O.

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. —— BASE ANGLE MK. MAR02
/ FASTEN TO FLOOR AT

3'—-0" 0.C. MAX

FINISHED FLOOR (FASTENERS NOT BY NUCOR)
— CONTINUOUS SHEETING CHANNEL
MK. B8CO1 -

CUP MK. JCS__.
ATTACH TO CHANNEL WITH (6) H1020
FASTENERS. ATTACH TO COLUMN
WITH (2) 1/2° x 1 1/4" A307 BOLTS
(HO500) & NUTS (H0400).

L 17 5 1/2"

8" SINGLE OR DOUBLE
CEE PARTITION COLUMN

'SECTION "C" TRANSVERSE PARYTION COLUMN TO CHANNEL SECTION D0 FULL_HEIGHT. SECTION AT PARTITION WAL

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.

IHO030

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15 7.4.5
BY: AK CHK: EGB IH0030.DWG o



dtls/ih0030.dwg

w0

BUILDING SYSTEMS

IH0040 — LONGITUDINAL PARTITION WALL

STEEL LINE“

USE (2) 1/2" x 2°
A325 BOLTS HOB03/ |
NUTS HO300 (CLIP

TO WEB CONNECTION)

CLIP MK.
GFI101

ENDWALL
RAFTER

1'=4" MIN. y D END oF, 6 1/2° &
GIRT 7 )
CLP MK. PWCO1 [——RAFTER  ©» I )
L . " " | | -
% Ml ¥ % + °_°i
| , 1
/ EM |
USE (2) 1/2° x 2" 5 i CEE GIRT
A325 BOLTS H0603/ —| il
NUTS HO300 (CLIP
TO WEB CONNECTION) I oo
———————

FIELD C
LENGTH MK MARO2

| CLP MK. JCTO1
FASTEN USING (6)
SCREWS MK. H1020
2" X 3 . ANeLE
2" X_3" ANGLE FIELD
CUT TO LENGTH MK. A
MARO2 (TYPICAL)

PARTITION WALL GIRT

VERTICAL CEE SUPPORT

FRICTION CLIP

MK. JCAO2
I L \

L

<

GIRT CLIP MK. GFIO1

>

8" SINGLE OR DOUBLE
CEE PARTITION COLUMN
BASE ANGLE MK. MARO2

(2) BASE CLIPS MK.

ENDWALL
GIRT

|- FRICTION CLIP
MK. JCPO2

ICTION CLIP

MK. JCAO2
(ATTACHMENT TO
SLAB BY OTHERS)

JCAO2 (ATTACHMENT TO
SLAB BY OTHERS)

FIELD CUT TO LENGTH **
FINISH FLOOR _\
I

FRICTION CLIP
MK. JCPO2

LONGITUDINAL PARTITION WALL

8" SYSTEM NOTE: USE 1/2” X 1—1/4" A307 BOLTS/NUTS U.N.O.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.
SEE STRUCTURAL ELEVATIONS FOR GIRT/COLUMN MARK NUMBERS.
** — FASTEN AT 3'-0" 0.C. MAX (FASTENERS NOT BY NUCOR).

LAST REVISION
DATE: 02/16/15
BY: _AK CHK:

DETAIL NAME IF APPLICABLE
IH0040.DWG

EGB

|H0040

7.4.6


dtls/ih0040.dwg

R ¥ =

GIT=Al  PRODUCT & ENGINEERING

‘ IH0050 — LONGITUDINAL PARTITION WALL SECTION CUTS

GIRT—\ CLP GFIU1—\ € CoLUMN /CUP GFI01 /—GIRT

- CAP TRIM
— [ ! é}_ — MK. CTAO1
[a O Ol 1—4‘:—
< o S
|C wawl H1060 FASTENERS
0 (L B @6 08)——
: L ———e——=

| GIRT ANGLE MK. MAGO1

| W/(2) H1020

| (PLACE ANGLE FROM GIRT
1

J

=3 R

)
TO FLANGE OF COLUMN |
) | DO NOT ATTACH WALL
6 1/2" I, 6 1/2" L3/4 PANEL TO CEE GIRTg_
L L)

5'-0" MAX.
PANEL CANTILEVER

SECTION 'A:' 2LOXNGITUDINI\L PARTITION WALLOGIRT TO _COLUMN
“NOTE: USE (§) 1/Z' X 1 1/4 A307 BOLIS HOS00/NUTS HO400.

NOTE: USE (6, 1 1/4" A307 BOLTS HOS00/NUTS H0400.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.

SIDEWALL GIRT-
FRICTION CLIP MK. JCAQ2-
PARTITION WALL GIRT \ /|/

I

N— r
PARTITION WALL GIRT

MAIN FRAME ~
RAFTER

|
|
|
|
|
|
|
|
L—
[
|
|
|
|
|
|
I

______ - |

M I

d ] |
| | | | WALL PANEL:

|.-rl- |

I

FRICTION CLIP MK. JCPO2 /l/

VERTICAL CEE SUPPORT
ATTACH WITH (3) H1020 FASTENERS
AT EACH GIRT/SUPPORT

SECTION "B" GIRT CONNECTION TO VERTICAL CEE SUPPORT

“NOTE: USE (4) 172 X 1 174 A307 BOLIS HO500/NUTS HO400 U.N.O.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.

PARTITION WALL GIRT

BASE ANGLE MK. MARD2
FASTEN TO FLOOR AT

3'-0" 0.C. MAX

(FASTENERS NOT BY NUCOR)

CEE GIRT " /_WEB CONNECTION) HAND

TIGHTEN AND BURR THREADS /’ FINISH FLOOR
L/ == i
= - ?—I a0 4 . N Rl
“ a7 . . s Bl .
— , ;

hd b
— — T O e —
MAGO1 WITH | N |’| - |
(2) H1020 j i i
SCREWS 34| !
#

61/ L e1/2 | |3
L

— T USE (2) 1/2" x 2" A325 BOLTS
CUP MK. PWCO1
\ HO603/ NUTS HO300 (CLIP TO

| I

— SECTION "D-D" FULL HEIGHT SECTION AT PARTITION WALL
SECTlON lcl LONGITUDINAL PWON WALL To RAFTER SEE WALL SHEETING ERECTION NOTES FOR WALL PANEL FASTENER LOCATIONS

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS HO0400.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS.

[HO050

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 7.4.7
BY: AK CHK: _EGB IH0050.DWG



dtls/ih0050.dwg

‘ IH0070 — LONGITUDINAL PARTITION WALL SECTION CUTS — JOISTS TO STRUT CONN.

GIRT—\ cupP GFI01-\ ¢ COLUMN /CUP GFI01 '/VGIRT
| .
LAY

DO NOT ATTACH WALL
PANEL TO CEE GIRT

CAP TRM CEE GIRT
MK. CTAO1

CLIP MK. JCTO1

FASTEN USING (6)
H1060 FASTENER SCREWS MK. H1020 -
(36" 0.C.)

|
(PLACE ANGLE FROM GIRT
TO FLANGE OF COLUMN)
|
le

|
1
|
6 1/2" 6 1/2" |,3/4"
L Cd

VS MK. HT020  _
a— ——
4] T
I,
F] JoisT
3/4 | |
< | [ ]
N
SECTION "A”" LONGITUDINAL PARTITION WALL GIRT TO COLUMN E | s i
NOTE: USE (6) 1/2° X 1 1/4" A307 BOLTS HO0500/NUTS HO400. % — H-
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. :g " |
? m |
lng \
SIDEWALL GIRT- o« | Kk __‘
FRICTION CLIP MK. JCAO2: | *I: =
PARTITION WALL GIRT 1, 4
______ — | | ] CLIP MK. WBCO3
J‘—
! ° L" L: | | CEE CHANNEL
<o [ . | | [NO_©
| | | 8" SINGLE OR
oluid H ’\, DOUBLE CEE COLUMN
______ L[ I A
FRICTION CLIP MK. JCPO2 1% | | ]/ PARTITION WAL GIRT
VERTICAL CEE SUPPORT o
ATTACH WITH (3) H1020 FASTENERS |
AT EACH GIRT/SUPPORT WALL PANEL | o O
N
SECTION "B GIRT CONNECTION TO VERTICAL CEE SUPPORT | N cup oron
NOTE: USE (4) 1/2° X 1 1/4° A307 BOLTS HO500/NUTS HO400 UN.O.
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS. | (B:Eric (;IIJ‘PE #Khaggg
BASE AN
BASE ANGLE —\: / NOT BY NUCOR)
— T USE (2) 1/2" x 2" A325 BOLTS
CLIP MK. PWCO1 HO0603,/ NUTS HO300 (CLIP TO o O /‘ FINISH FLOOR
CEE GIRT | /7 WEB_CONNECTION) HAND L]
_\ I / TIGHTEN AND BURR THRI 7 T - T
== || = L

o1

N ;' e

|

|

o |

= —— gl

— —F 3 o |y 3 o— —

MAGO1 WITH | - LI - | .

@ 1020 | ' SECTION *D-D° FULL HEIGHT SECTION AT PARTITION WALL
34 L 81/2" , &1Z L:’/* NOTE: USE 1/2° X 1 1/4° A307 BOLTS HO500/NUTS HO400 U.N.O.

SEE WALL SHEETIG ERECTION NOTES. FOR WALL PANEL FASTENER LOCATIONS
SECTION *C” LONGlTUDlNAL P%RTTHON WALL TO RAFTER * _ FASTEN AT 3—0" O.C. MAX (FASTENERS NOT BY NUCOR)
NOTE: USE (4) 1/2° x 1 1/4" A307 BOLTS HO500/NUTS HO400.
REFERENGE EREGTOR NOTE FOR TPICAL WASHER REQUIREMENTS.

IHO070

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 7.4.8

BY: _AK CHK:_EGB IH0070.DWG



dtls/ih0070.dwg

BUILDING SYSTEMS |}

DRAFT CURTAIN DETAILS

‘ 1J0010 — TRANSVERSE DRAFT CURTAIN W/ PURLINS — HORIZONTAL BOTTOM SUPPORT

4” MAXIMUM

TOP_OF PURLIN

TOP_OF PANEL -

PURLIN —/

DIAGONAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

VERTICAL SUPPORT
MK. DFC__

I
I
I
I
I
I
I
USE (2) H1020 N
FASTENERS PER END >|
I
I
I
I

2" x 3" x 20'-0 ANGLE MK. MARO2. N

USE (2) H1020 FASTENERS AT
ATTACHMENT LOCATIONS.

(ALSO SEE MARO2 SPLICE DEI'AIL)\ /

DRAFT CURTAIN WALL PANEL
CAP TRIM MK. HTD121 \

H1060 FASTENERS
AT 36" 0.C.

PURLIN FLASH
PF___, (1)
PER PURLIN
SPACE

2" x 3" x 20'-0
ANGLE MK. MARO2
WITH (2) H1020
FASTENERS AT
ATTACHMENT
LOCATIONS.

(ALSO SEE MAR02
SPLICE DETAIL)

H1040
FASTENERS
AT 12" 0.C.
(TYPICAL TOP
AND BOTTOM)

H1060 FASTENERS AT 36" O.C.

ERECTION NOTES:

1) DIAGONAL & VERTICAL SUPPORTS RUN WITH THE ROOF SLOPE

2) SEE ELEVATION DRAWINGS FOR SUPPORT LOCATIONS

3) VERTICAL SUPPORTS ARE TO HAVE A MAXIMUM SPACING OF 11'-0"
4) FIELD COPE PANELS AT PURLINS AS REQUIRED

DRAFT CURTAIN DETAIL

TRANSVERSE DRAFT CURTAIN

LAST REVISION

1J0010

ANGLE
MK. MARO2

(2) H1020

) y
FASTENERS PER LAP

MARO2 SPLICE DETAIL

PURLIN

2" x 3" x 20°-0
ANGLE MK. MARO2
WITH (2) H1020
FASTENERS AT
ATTACHMENT
LOCATIONS

DIAGONAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

VERTICAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

2” x 3" x 20°-0
ANGLE MK. MARO2
WITH (2) H1020
FASTENERS AT
ATTACHMENT ° e

LOCATIONS

SECTION A

DETAIL NAME |IF APPLICABLE

DATE: 02/16/15
BY: _AK CHK:_EGB

1J0010.DWG

749


dtls/ij0010.dwg

w0

Huc |

BUILDING SYSTEMS

1J0020 — TRANSVERSE DRAFT CURTAIN W/ PURLINS — PARALLEL SUPPORTS

4" MAXIMUM

TOP OF PURLIN

TOP_OF PANEL -

. m H1060 FASTENERS
45° +— | AT 36" O.C.

PURLIN —/

L> PURLIN FLASH

PF___, (1)
DIAGONAL SUPPORT PER PURLIN
MK. DFC__ SPACE

USE (2) H1020
FASTENERS PER END

VERTICAL SUPPORT

|
|
|
|
: 2" x 3" x 20'-0
| WITH (2) H1020
FASTENERS AT
USE (2) H1020 >: ATTACHMENT
|
|
|

ANGLE MK. MARO2

MK. DFC__
LOCATIONS.

FASTENERS PER END
2" x 3" x 20'-0 ANGLE MK. MARD2. ]
USE (2) H1020 FASTENERS AT

ATTACHMENT LOCATIONS. H1040

(ALSO SEE MARO2 SPLICE DETAIL) | FASTENERS
\=L—tmm AT 12" O.C.
(TYPICAL TOP
DRAFT CURTAIN WALL PANEL AND BOTTOM)
CAP TRIM MK. HTD121 K\

H1060 FASTENERS AT 36" O.C.

(ALSO SEE MARO2
SPLICE DETAIL)

ERECTION NOTES:

1) DIAGONAL & VERTICAL SUPPORTS RUN WITH THE ROOF SLOPE

2) SEE ELEVATION DRAWINGS FOR SUPPORT LOCATIONS

3) VERTICAL SUPPORTS ARE TO HAVE A MAXIMUM SPACING OF 11'-0"
4) FIELD COPE PANELS AT PURLINS AS REQUIRED

DRAFT CURTAIN DETAIL
TRANSVERSE DRAFT CURTAIN
1J0020

ANGLE
MK. MARO2

(2) H1020
FASTENERS PER LAP

MARO2 SPLICE DETAIL

PURLIN

2” x 3" x 20°-0
ANGLE MK. MAR02
WITH (2) H1020
FASTENERS AT
ATTACHMENT
LOCATIONS

DIAGONAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

VERTICAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

2" x 3" x 20°-0
ANGLE MK. MAR02
WITH (2) H1020
FASTENERS AT
ATTACHMENT
LOCATIONS

SECTION A

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15

BY: AK CHK: EGB 1J0020.DWG

7.4.10


dtls/ij0020.dwg

w0

=0l PRODUCT & ENGINEERING N

BUILDING SYSTEMS |}

RAFTER TRIM MK. PF___ (1)
PER JOIST SPACE

A >
H1060 FASTENERS

AT 36" O.C.

™)

N Y 3

zl
.
| TOP_OF PANEL

]

JOIST

FIELD WELD

""" 2" X 3" X 20'—0" ANGLE
DIAGONAL SUPPORT MK. MARO2 USE (2)
MK. DFC__ H1020 FASTENERS AT
USE (2) H1020

FASTENERS PER END

VERTICAL SUPPORT
MK. DFC__ USE (2)
TEK 3 SCREWS
H1020 PER END

2" X 3" X 20'-0" ANGLE MK.

MARO2 USE (2) H1020 FASTENERS
AT ATTACHMENT LOCATIONS

ATTACHMENT LOCATIONS
(ALSO SEE MARO2 SPLICE
DETAIL)

H1040 FASTENERS
AT 12" O.C.

CAP TRIM MK. HTD121

&DRAFI’ CURTAIN WALL PANEL

H1060 FASTENERS AT 3670.C.

ERECTION NOTES:

1) DIAGONAL & VERTICAL SUPPORTS RUN WITH THE ROOF SLOPE

2) SEE ELEVATION DRAWINGS FOR SUPPORT LOCATIONS

3) VERTICAL SUPPORTS ARE TO HAVE A MAXIMUM SPACING OF 11'-0"
4) FIELD COPE PANELS AT JOISTS AS REQUIRED

ANGLE
MK. MARO2

(2) H1020
FASTENERS PER LAP

MARO2 SPLICE DETAIL

2” x 3" x 20'-0
ANGLE MK. MARO2
WITH (2) H1020
FASTENERS AT
ATTACHMENT
LOCATIONS

FIELD WELD

DIAGONAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

VERTICAL SUPPORT
MK. DFC__

USE (2) H1020
FASTENERS PER END

2” x 3" x 20'-0
ANGLE MK. MARO2
WITH (2) H1020
FASTENERS AT

phos o RN
DRAFT_CURTAIN DETAIL AT JOIST SECTION A
TRANSVERSE DRAFT CURTAIN I J 0 0 4 O IESEI-%RLA';(I?IL SHOWN
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: AK CHK: EGB 1J0040.DWG

7.4.11


dtls/ij0040.dwg

T

i 'riLJE:EJFE‘

BUILDING SYSTEMS

‘ 1J0060 — TRANSVERSE DRAFT CURTAIN W/ JOISTS — AWAY FROM MAIN FRAME RAFTER

2" X 3" X 20'-0" ANGLE JOIST FLASH PF
MARO2 SPLICE DETAIL)
r H1060 FASTENERS AT 36” O.C.
FIELD WELD /
\ \ T4"MAX.

4

\JOIST

\H1040 FASTENERS AT 12" 0.C.

(TYPICAL AT MARO2 ANGLES)

FIELD WELD

2" X 3" X 20'—0" ANGLE
MK. MARO2 (ALSO SEE

MARO2 SPLICE DETAIL) /DRAFI' CURTAIN WALL PANEL

H1060 FASTENERS CAP TRIM MK. HTD121
e O-C-w/

DRAFT CURTAIN DETAIL AT JOIST
TRANSVERSE DRAFT CURTAIN
1JO060

ANGLE
MK. MARO2

(2) H1020 y
FASTENERS PER LAP

MARO2 SPLICE DETAIL

FIELD WELD

FIELD WELD

SECTION A

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15

BY: _AK CHK:_EGB 1J0060.DWG

7.4.12


dtls/ij0060.dwg

[y

H|_||:|::||='

BUILDING SYSTEMS

1J0070 — LONGITUDINAL DRAFT CURTAIN W/ JOISTS

2" x 3" x 20'—0 ANGLE MK. MARO2 WITH (2)
H1020 FASTENERS AT ATTACHMENT LOCATIONS

JOIST (ROOF STEEL LINE)

—-- -~ TOP OF PURLIN .

|
TOP_OF PANEL ANGLE
MK. MARO2

H1060
FASTENERS
AT 36" O.C. } }

FIELD WELD
(TYPICAL)

CAP TRIM
MK. CTAO1

(2) H1020
FASTENERS PER LAP

MARO2 SPLICE DETAIL

HORIZONTAL SUPPORT MK.
DFCO1 USE (2) TEK 3
SCREWS H1020 PER END

\DRAFI' CURTAIN

WALL PANEL

DIAGONAL SUPPORT MK.

DFC___ USE (2) TEK 3
SCREWS H1020 PER END

VERTICAL SUPPORT MK.
DFC___ USE (2) TEK 3

SCREWS H1020 PER END

2" x 3" x 20'-0 ANGLE
MK. MARO2 WITH (2)
H1020 FASTENERS AT
ATTACHMENT LOCATIONS

CAP TRIM MK. HTD121

H1060 FASTENERS AT 36" 0.C.

1040 FASTENERS
AT 12" O.C.
(TYPICAL TOP AND
BOTTOM)

=
-

2" x 3" x 20'-0
ANGLE MK. MARO2

WITH (2) H1020 I_X_
FASTENERS AT

1|

=~

ATTACHMENT !
LOCATIONS —/

DIAGONAL SUPPORT
MK. DFC___ USE

(2) TEK 3 SCREWS
H1020 PER END

VERTICAL SUPPORT
MK. DFC___ USE

(2) TEK 3 SCREWS 7
H1020 PER END

2" x 3” x 20'-0
ANGLE MK. MAR02
WITH (2) H1020
FASTENERS AT

ATTACHMENT ° e
LOCATIONS \I_ __________ _I

SECTION A

ERECTION NOQTES:

1) SEE ELEVATION DRAWINGS FOR SUPPORT LOCATIONS
2) HORIZONTAL SUPPORT MUST BE FASTENED TO (2) JOISTS
3) FIELD CUT PANELS AT RAFTERS AS REQUIRED

__I::::X_“:::::T___

DRAFT CURTAIN DETAIL

LONGITUDINAL DRAFT CURTAIN

1J0070

LAST REVISION
DATE: 02/16/15
BY: _AK CHK:_EGB

DETAIL NAME IF APPLICABLE
1J0070.DWG

7.4.13


dtls/ij0070.dwg

BUILDING SYSTEMS

RECESSED ENDWALL DETAILS

‘ GA0002 —- RECESSED ENDWALL DETAIL

PURLIN SPACE

—e

CUT AWAY
AREA

SECTION "B”
R

2+——CUT AWAY AREA

1 L

PARTITION FLASHING MUST BE CUT TO LENGTH AND NOTCHED IN THE FIELD.

FIELD WORK OF FLASHING WILL BE REQUIRED AT ALL PURLINS, EAVES AND RIDGES.

non FASTENER MK. H1020
PURLIN /

URL \ E—» (ATTACH AT EACH PURLIN)
- -t —

PURLIN
DEPTH

L SECTION "A”
s

|

|

PARTITION FLASHING
MK. *PF_01

(FIT SNUG AGAINST
ROOF INSULATION)

(ROOFLINE TRIM COLOR)

STITCH FASTENER
MK. H1060

RAKE RETAINER
TRIM MK. RRAQ1

ENDWALL PANEL-

I \LANGLE MK. MAROT (LLV.)

¥D0 NOT INSTALL SCREWS IN TRIM HERE

PANEL CLOSURE

MK. H3400 @ CLASSIC PANEL

MK. H3410 @ REVERSE CLASSIC PANEL
MK. H3420 @ ACCENT PANEL

* _|PURLIN DEPTH
PFFO1 8"
PFGO1 10"
PFHO1 12"

ROOF SHEETING AND ROOF INSULATION NOT SHOWN FOR CLARITY

PANEL NOT SHOWN
HERE FOR CLARITY

STITCH FASTENER
MK. H1060 (AS
REQ’'D TO HOLD
PF_01 IN PLACE)

ROOF STEEL LINE
PURLIN

PARTITION FLASHING
"A"  MK. *PF_01
- (ROOFLINE TRIM 9(}9’?} ==

71 W

L =

T
\

LAP PARTITION
FLASHING
STITCH FASTENER

MK. H1060
(12" 0.C)

FIELD NOTCH J
PANEL AT PURLIN

RECESSED
ENDWALL PANEL

RAKE RETAINER
TRIM, CONTINUOUS
MK. RRAO1

RECESSED ENDWALL DETAIL

AT EXPOSED RECESSED ENDWALL

GA0002

LAST REVISION
DATE: 02/16/15
BY: _AK CHK:

DETAIL NAME |IF APPLICABLE
GA0002.DWG

EGB

7.4.14


dtls/ga0002.dwg

	Partition & Draft Curtain Table of Contents
	Draft Curtain Information And Specifications
	Partition Information And Specifications
	Partition Wall Details
	IH0010 – 8” System Transverse Partition Wall
	IH0020 – Transverse Partition Wall Section Cuts – Purlins
	IH0030 – Transverse Partition Wall Section Cuts – Joists
	IH0040 – Longitudinal Partition Wall
	IH0050 – Longitudinal Partition Wall Section Cuts
	IH0070 – Longitudinal Partition Wall Section Cuts – Joists To Strut Conn.

	Draft Curtain Details
	IJ0010 – Transverse Draft Curtain W/ Purlins – Horizontal Bottom Support
	IJ0020 – Transverse Draft Curtain W/ Purlins – Parallel Supports
	IJ0040 – Transverse Draft Curtain W/ Joists – Horizontal Bottom Support
	IJ0060 – Transverse Draft Curtain W/ Joists – Away From Main Frame Rafter
	IJ0070 – Longitudinal Draft Curtain W/ Joists

	Recessed Endwall Details
	GA0002 – Recessed Endwall Detail


